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012 20IA LBHEIH A-SXD ~ A=K D
SA: A=K
MM HHSAAY (M=KD
Sl Il =Yl (erel: @2
_ _ _ Muo
SA B G(E) - NEAY - B O & o4 i HREZ
SR 18,684,269 19,874,855 A 1,190,586
= 5,995,749
z 2,192,807
s 195,022
< 2,227,799
= 8,072,892
BHSHHH (M=) 27,181 28,157 ~976
PIEE-L] 27,181 28,157 ~976
PIEEL 27,181 28,157 ~976
201 Yer2 Y| 18,541 19,517 A976
01 At 22t 16,741 17,357 1616
OptagH| 12,841
0.7 2AIRE 2| 70,0002 189! 1,260
0.AFRIID| ¥ SARE 11,005,000 11,005
0.A2P=2 12,0008 45 % 122 576
OZZHI(MESXDBYREA) 210,000 +182! 3,780
odesllss wae 120,000 120
02 TS| 1,800 2,160 A360
02222 2 MAl 1,800
0.2ER3 100, 000! * 182! 1,800
202 01| 8,640 8,640 0
01 24048 8,640 8,640 0
OZQI0iH(ZSZHI)  180,0008 «4% G+128 8,640
BHEN2Y (M=) 4,200 4,200 0
SNEREY 4,200 4,200 0
orae | 4,200 4,200 0
203 YR FAY| 4,200 4,200 0
04 BASHAREAY 4,200 4,200 0
ORN2YYREX 350,0002! * 122 4,200
SRS 12,534,687 16,029,762 13,495,075
= 4,890,234
2 940,007
= 1,647,957
, z 5,056,489
2T OH S RI E A 81,440 82,850 A1,410
BESHHPY 2 e 66,650 70, 160 A3,510
201 Yer2 eyl 4,950 5,700 AT50
01 At 22t 2,450 2,700 250
OZZH(ZASXNYREX) 7,000 +501x70 2,450
03 # A2 H| 2,500 3,000 A500
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QA= ABH A 2,500,000 2,500
202 04 10,200 12,960 A2,760
01 2ol 10,200 12,960 A2,760
O2L =R Y2480 170,000 501« 1224 10,200
203 QR E=XH| 4,000 4,000 0
03 AlBHEZI Q2 A 4,000 4,000 0
OZY=R g2=3 1,000,000 1,000
OitEER =7 1,000,000&4 1,000
QLRSS ALRZZ 1,000,000& 1,000
OMEALESE A2 EX 1,000,000& 1,000
206 2] 2,500 2,500 0
01 H2Hl 2,500 2,500 0
OZEHIO2 RAU(OIOIHIKIRHE Rl 28)
2502 *10,000= 2,500
401 A2 HI Y2 0HY 45,000 45,000 0
01 Al& ] 45,000 45,000 0
OZsW ORYWALIILIOF & X
15,0002 2J0 21,5004 45,000
UDERX 2 14,790 12,690 2,100
201 Y2 A 14,790 12,690 2,100
01 At 22l 11,250 9,750 1,500
oYxtz 11,250
0.ch822AHBC UXE 7502 15,000 11,250
02 2Z2=29H| 3,540 2,940 600
OZZ22 2 HA 3,540
0.5 UQA MIR2 50,0002 * 12¢ 600
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0.Z==Chel 22AlE ®IS2
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0.AHIHRR JIRE IR
65,0008 * 122 780
0.XIEHR QA AL ABlER2
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0.8t81 OIS SAF JIRE HMIIQ=2
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INEMEE LAY 1,194,820 768,520 426,300
[= 50,000
= 1,144,820
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02 SE=24H 11,960 9,560 2,400
O232= ¥ HMAl 9,860
0.8 =234E= M3 30,000& 122 360
0.2324H= 22 ZHIRFH 500,000& 500
0.S422MEE MIIQ3 600,008 122 7,200
0.HSRMEIE QR H2LE
150,000& «12& 1,800
OAl€ZHIK Xl 500
0. 840101 & AI2EHl S| 500,000 500
OHdS=dE =2 200,000 »5& 1,000
OHd==dH= =0IH MHolEE=
50,000& 123 600
206 M=l 4,260 4,940 A 680
01 =4 4,260 4,940 A 680
OxZs= 4Ig gH 2 Hz
3,500& *500% 1,750
OLSHLHM s+ 2,510
0.8HUS ARk 20,0002 x40 800
0.BHEUR JIAHS A 45,0003 20 900
0.MFHlE &4=H 13,000 30H 390
0. 8ol ME &N 6,000& 705 420
401 AIEHIZ 2OhY| 455,000 650,000 A 195,000
01 Al Hl 455,000 650,000 A 195,000
O Z2ZES& =4 L AZF2te
10,000,000 = 100H 24 100,000
OZU =2AMEE == 2F0IA AL
100==+500, 000& 50,000
O=0ldHE M
10,000,000 *10S H*1.50H A& 150,000
otz € i =4dKX 500,000 *307H 2 15,000
OAAL MAZ NFB(SeE2H) 4232
THEAS 50,000,000 *1JH 2 50,000
OsdZdUdH & SH&E=E FHIAL
30,000,000 *1JH A& 30,000
OB Hel 23324 30,000,000 190 2 30,000
O3X&Hel 2B EAY
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S4E Zgs2H+E 100,000 0 100,000
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i 50,000
01 A& HI 100,000 100,000 0
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4,045
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730,816
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EURCH

301 et als 40,000 36,000 4,000
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390,816
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< 10,400
i 25,600
OEH171(800ha) 568,000,000& 568,000
= 312,400
[ 73,840
i 181,760

02 Z2lhl 156,000 132,000 24,000
O AN &k2eldl (1300ha) 78,000,000& 78,000
= 42,900
== 10, 140
= 24,960
=0k Dl 228l (1,250ha) 78,000,000 78,000
= 42,900
< 10, 140
i 24,960

03 Al 20| 133,820 131,740 2,080
O&AHIMNE FOHHI 4,627,000 4,627
= 2,500
< 614
i 1,513
O==0HHI21 20hbl 4,627,000 4,627
= 2,500
= 614
= 1,513
ON S LIS I I ALY 2 01 H 275,000 275
= 151
< 36
i 88
OZ=2MHAIS L THHI 720,000& 720
= 396
= 94
= 230
OZHIDI At 2 1 3,578,000& 3,578
= 1,968
< 465
= 1,145

OLH B0 A =& & E L U

119,993, 0002 119,993
= 72,596
< 14,219
= 33,178

402 212+ X201 N 70,000 69,709 291
= 70,000

02 CIZtCH&E AR I 70,000 69,709 291
O&HHIOI 2O ARIZFIHE AFZ HI - 70,000, 000 70,000
= 70,000

LSEIHEH 7S 103,000 0 103,000
= 51,500
< 15,450
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= 36,050
405 RHobF S HI 103,000 0 103,000
= 51,500
& 15,450
= 36,050
01 ARt =S FHSH 103,000 0 103,000
OL I AL (R2ETAH1II) 63,000, 000& 63,000
= 31,500
& 9,450
= 22,050
OLINHABLI(AEAHO=SAKXII])
16,000,000& 16,000
= 8,000
& 2,400
i 5,600
OLAIHEHHI(AHRIXIZIN) 24,000,000& 24,000
= 12,000
& 3,600
i 8,400
AN BUXCIE S 97,825 166,804 268,979
= 58,695
& 11,739
= 27,391
MEABIASE 97,825 166,804 A68,979
= 58,695
= 11,739
i 27,391
101 eI24d| 97,825 166,804 268,979
= 58,695
& 11,739
= 27,391
04 JI2ZtHZ22XNSE+ 97,825 166,804 268,979
Ot HHIAS A ALY 97,825
0.=2Z XA AMA(2Y) 27,950,000& 27,950
= 16,770
< 3,354
= 7,826
O.=2etel( 1¥) 13,975,000& 13,975
= 8,385
& 1,677
i 3,913
0.=MEf&20(1Y) 13,975,000& 13,975
= 8,385
& 1,677
= 3,913
0.=aoi&oH(2Y 27,950,000& 27,950
= 16,770
& 3,354
= 7,826
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_ _ HE T
N33 S2(3H) - MEAMY - BES e loﬂ/ix_FOH Hlw &2
0.TA=XIRRY (19) 13,975,000 13,975
= 8,385
< 1,677
= 3,913
YT AL 1,212,747 1,767,231 554,484
= 660,007
< 141,439
T 411,301
SaE HAFY 113,100 271,440 158,340
201 YBte | 15,232 0 15,232
01 AFR 22| 3,672 0 3,672
OS2 SHMEH S22 1,800,000 1,800
OSeHLOHME oA 23
156,0008! * 122 1,872
02 2229l 11,560 0 11,560
ozze2Y| 4,000
0 SSIZQHHME HIIRZ  200,0008 128 2,400
0 SSZHHME SARZ 40,0008 +128 480
0 Sall2 OHHMIE Shtdl 60,0008 128 720
0 SaIZ 210154 HSEH2I
100, 000! %474 4 400
OS&2 §IXEoII(00A) HIIRS
90,0002 +7CH 122 7,560
401 Al HI L2 OHH| 89,868 271,440 A 181,572
01 Al&Hl 89,400 270,000 180,600
OSHZ2 HESAY 79,400
0.8 S&Z HbI(L=15km)  30,000,0008! 30,000
0.MS8 SAaZ ZH|D|AH (80kn)
39,400,000 39,400
0.XI2IASa2 ZWII L S 2= (20kn)
10,000,000 10,000
OSUZHLHME 2ABAT| 10,000,000 10,000
03 Al &S CHHI 468 1,440 Q72
OA &= 468
0.SMZHB A 204
65,000,000% *0.72/100 468
405 XH&HE S| 8,000 0 8,000
01 MHA LS S| 8,000 0 8,000
OSUZHME 29 227 8,000
0.CHHMEI A L AFRED|ITY
8,000,000 8,000
SAIY RIS 942,887 1,058,712 A115,825
660,007
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& 2,340
= 2,340
4 D12t 22 RS2+ 15,600 15,600 0
o2 (2Y) 15,600,000& 15,600
= 10,920
& 2,340
= 2,340
401 AIEHIZL 20HYI 927,287 1,043,112 A 115,825
= 649,087
& 139,099
[ 139,101
01 Al &l 920,935 1,036, 121 A 115,186
OLTAEAIS (2t A 1. 0km-AI S, 2t 27224
) 201,735,000& 201,735
& 141,215
& 30,260
= 30,260
O AT AAE(3.0km-2 M KHall~IH8l 2Km, S92
22 E1Km) 257,269,000& 257,269
& 180,088
& 38,590
= 38,591
OLE AT INSBAIL (6.0km-221.2, HAH1, =21
, 230.8,&=21,22/1) 395,036,000 395,036
= 276,530
& 59,253
[ 59,253
OLd =B AL (15. 0Kkm-AME S E 2500 4 )
6,895,000 66,895
2 46,825
& 10,034
= 10,036
03 Al 20| 6,352 6,991 A639
OLYTAEAMS 201l 1,286,000& 1,286
z 900
& 193
[ 193
O&HUTMAE LY 1,945,000& 1,945
= 1,343
& 301
= 301
OLEFAZHEAIY 204 2,516,000 2,516
2 1,761
& 377
= 378
OLEE-AY S20Ub] 605,000 605
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201 L2 Y| 1,960 1,400 560
01 AR 22l 1,960 1,400 560
OSYHI (LY SSHARLET) 7,008 421470 1,960
202 01t 4,800 3,600 1,200
01 2Lhoit] 4,800 3,600 1,200
OUEBSEHADEHOIH 100,000 «401 128 4,800
401 AIEHIL 2 0] 150,000 432,079 ~282,079
01 Al&H] 150,000 430,000 280,000
OYSPEMBANY (=2, 5, 3H,S2l)
50,000, 0002 *3kn 150,000
STHoIB8 X 900,600 751,000 149,600
2 118,100
z 280,000
= 47,182
2 455,318
Sg M4 NRAL 200,000 200,000 0
402 212 XH2 01 & 200,000 200,000 0
01 DIZHRIRB X 200,000 200,000 0
OSE MANBS(SYNYRAE 2E)
200,000, 00024 200,000
WP P DAY 252,600 267,000 A 14,400
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2 120,718
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2 108,100
= 23,782
2 120,718
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O HIOIQUHAANY (FEH BB B 22 ) (400H
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2 56,400
= 8,272
2 66,928
OLZIBHOI QOH A A (FOI B 0| Al & §)220H &
103,400, 00024 103,400
2 51,700
= 15,510
= 36, 190
OFUBHAANLE BIABAHA M
22JH 800, 0002 17,600
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iy 382,113
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= 85,475
T 17,095
= 68,380
402 QI2HAH20| ™ 170,950 968,444 AT97,494
= 85,475
& 17,095
o 68,380
01 A2t 22X 170,950 968,444 ANT97,494
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AMNE 2SR 1,501,287 1,072,000 429,287
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o 150,000
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03 Al 20HHI 3,900 4,580 680
OUitMeE=s8add 20l 3,900,000 3,900
= 1,950
o= 975
iy 975
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OYMSHAIBI BAEOH (SR, 225 S)
1,500,002 * 28l 3,000
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OBMASNY +H2E7  200,0008 =204 400
ORUEANEY +H42EDY 300,0008 =30H A 900
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EBIEERE 400 400 0
OMERER AN 50,0002 #82! 400
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0.2 # 1,000,008 * 1HSE 1,000
0.3 o 300,0008 * 14S¢ 300
N NNV 776,724 611,721 165,003
2 310,689
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101 124t 421,988 339,900 82,088
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[ 7,200
= 16,800
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